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MUy = Tm -5 616016y, y 601 GHIMM| FMILN606sIS SM6ToI5.


https://dl.doubtnut.com/l/_3feuj8RWzJ0q
https://dl.doubtnut.com/l/_ieR46lqlcPlk
https://dl.doubtnut.com/l/_NrUvMlY2uxni

CrhLOMM| SMLILD 6 (H ML 616316YLD &IT63015

o Watch Video Solution

59. e&(H agngnyesol &FmIGsHg lmpluilen 617 2 (Hellemeost
LOMMHMILIEDLDES 61630T6001M6V 61(LPGLI LwesTL(hSGHLILI(HLD &L
f(z) = 3z — 4Q@&asmilest CHILMNEn6STUD, SHHCHILMM| & (H
&ML 6T65TLIG6D60TWLD SHM630TdH. SHem6eUy = = 61651 GHTESHML_1q6V

FLOEET 2 6O WG| 6T65TLIEN G 6UENTHE | SHT6TTTS

o Watch Video Solution

3 61661 euemer eufluflesr

60. GlaM(h&HSHLULL(HeTem LILgglevy = x
LIL§Slement LiwedTL(h&&) Si&a UL LOMMTLOEY 66l 86Mg s 6v

£@&n@ﬁb MU SH6em6T 6Uemo(i) y = — x> (iy = 2 + 1 (i)


https://dl.doubtnut.com/l/_NrUvMlY2uxni
https://dl.doubtnut.com/l/_EB14TvwCvx4y
https://dl.doubtnut.com/l/_PGeaNJ38Rkdg

y=a—1(vy = (z +1)°

o Watch Video Solution

61. GlanBsasuuLl(Heiter UI_g')Q‘)]G'\)y:w(%) 61601 GUED6IT
auen eyl  LwetTl(h§ &S é';’l.pa;rr@um FnijL&HemeT 6@

1
3

BB auemnsl) y = — ) Gy =2 C) 11y =2C) 1


https://dl.doubtnut.com/l/_PGeaNJ38Rkdg
https://dl.doubtnut.com/l/_1n5hT9H8ETQZ

w |~
~—

(ivyy = (z + 1) (

¥i
3 .
|t
_.-"

~ 0 g B X

° Watch Video Solution

5 ommibg(z) = Yz  SMTLSEm6T

62. @Gy gengdlevf(z) =z
6UED JLILLOM&H(&. f0ge3 8600118, | 316g 561586V

6UED JLIL_LDM&H(&.(LPLG 6 SH6M6IT Sblile) 6lF1s.

° Watch Video Solution



https://dl.doubtnut.com/l/_1n5hT9H8ETQZ
https://dl.doubtnut.com/l/_n8kVWFBc0dck

63. y = z 616t GuemeETEUEOTANE (HIhgly = 3(z — 1)° +5 66t

EUEMEITEUED DI SHTETN) LD LILGMH6D60&:6016TT 61(LD &) |5

o Watch Video Solution

64. y=sinzeteoim EnyUlemenT  GUENITHG| DHGHETT  CLP6ULD
y=sin( —z) e6orm &mjilenest eUEMNHG| SIGHEST  CLPGVLD
ShalWeumenm eUemfsh. (QraiG(iii)(iv), 6165TLIEMEN  cos 26T60TLIG |

(P &CHMeTTTAIIWLIG CLPEVLD 6GHIH G |6]STET6MeVITLD

o Watch Video Solution

65. y =sinzeleoim) FMJLIl6DETT  EUEDITHG| SIGH6EOT  CLP6ULD
y= —sin( —xz) er6otm &MJIl60EOT 6UMIHG| HHEOT CLP6EVLD
ShalWeumenm eUemfsh. (QraiG(iii)(iv), 6165TLIEMEN  cos 26T60TLIG |

(P &CHMeTTTAIIWLIG CLPEVLD 6lGHIH (6] STET6meVITLD

o Watch Video Solution



https://dl.doubtnut.com/l/_0CFj0FcCODn0
https://dl.doubtnut.com/l/_OIBvQdTTlNEv
https://dl.doubtnut.com/l/_jvgRQUwedfGb

66. y = sinzeleoim) FMILIl6DETT  EUEDTHG| SIG6EOT  CLP6ULD

™ . . : . .
y= sin(E + a:) 6160TM  FNLlemenT  aUenIhG| SIGH6dT  ELP6ULD
ShalWeumMenm eUemfsh. (QraiG(iii)(iv), 6165TLIEMEN  cos L6T60TLIG |

(P &CHMeTTTAIWLIG CLPEVLD 61GHIH G |6]STET6meVITLD

o Watch Video Solution

67. y=sinzeredim &FNyLlemesT  GUEMHG| SIGH6EST  CLP6ULD

™ . . . . .
y= sin(E — a:) el6oTm  FMLIl6m6sT  6UEDIHG| SHGH6EOT  CLP6ULD
ShalWemMenm eUemfsh. (QraiG(iii)(iv), 6165TLIEMEN  cos L6T60TLIG) |

(P &CHMeTTTAIIWLIG CLPEVLD 6GHIH G |6]STET6MeVITLD

o Watch Video Solution

68. y = zeledim GCHJCHMLLg60T CP6UD y = —x SbSlwelmemnm

GCgMIMWILONS 6U6MI]S

o Watch Video Solution



https://dl.doubtnut.com/l/_4n1lLdiBQFSb
https://dl.doubtnut.com/l/_yr7tysBK0Ghn
https://dl.doubtnut.com/l/_X70bkjVcEfd2

69. y = zeledTm GCHICHML 60T ePeUDd y = 2z ShFlWeumemnm

GCaMIIMUWILDTS U5

° Watch Video Solution

70. y = zeTedtim CHICHMLLq65T VD y = + 1 ShFlweumemm

GCaMIIMUWILDTS U5

° Watch Video Solution

1
71. y = zeletim CHIFCHML_Lq65T ELP6VLD y = 52+ 1 Shalweumemnm

GCaMIIMUWILDS 6UEDIJS

° Watch Video Solution

72. y=|z|etedTm euemerneuemuiledst  fpeud Yy = |z — 1| +1

ShS&IWEUMEM M) 6UED TS

| e |


https://dl.doubtnut.com/l/_7SNb2D9seQ8c
https://dl.doubtnut.com/l/_IYOALgAACJLv
https://dl.doubtnut.com/l/_yzPUTcec4Gpf
https://dl.doubtnut.com/l/_yJHMxNOTnOPc

| & Watch Video Solution I

73. y=|z|etedTm  euemerneuemuiledst  epeudy = |z + 1| — 1

ShS&IWEUMEM M) 6UED TS

° Watch Video Solution

74. y = |z|etedTm  euemeTeUEmTWlEST  CPEUD Yy = |x + 2| + 3

ShS&IWEUMEM M) 6UED TS

° Watch Video Solution

75. y = sinz6T60TM) 6UEMETEUEMI] CLP6ULDY = sin|z| 6165TLIG60T 6U6mI]

LIL&6M8, 6U6DI]8 [Q (G sin(-x)=-sin X].

° Watch Video Solution



https://dl.doubtnut.com/l/_yJHMxNOTnOPc
https://dl.doubtnut.com/l/_ozyAcbCnnelz
https://dl.doubtnut.com/l/_mxUvN2Px0wcV
https://dl.doubtnut.com/l/_hVOyMC0Ffwsg

76.A = {(z,y):y=€",z c Rommib B = {(z,y):y=e—z,z €R
e160flev, n(A N B) 6166TLIG|

A. 0o

B.O

C.1

D. 2

Answer:

o Watch Video Solution

77. A={(z,y):y =sinz,z € RIpmm|b
B ={(z,y):y = cosz, z € R}erevlleuA N Bev

A. 2. M|LIL| 56111606316V

B. 61650160011 6VL_MBI&IT 2 MILIL|&6IT 2_6iT6IT60T

C. 6 @(h 2-MmILIL| 2 6168


https://dl.doubtnut.com/l/_dKKoxWzBgvP5
https://dl.doubtnut.com/l/_FfZ9xImXpBuA

D. §jonesl&s Quievns|

Answer:

o Watch Video Solution

78.A = {0, — 1, 1,2} eign)|lb sevuigglev |z° + 42| < 2e1gn)onmiz Ry
Shs eUETWMISHLILLL CHMLILR er6oflley, SLDé&&e6so1L6umnleu
618 &iflwinesigy| ?

A.R = {(0,0), (0, —1),(0,1),(—1,0),(—1,1),(1,2),(1,0)}

B.R~ ' ={(0,0), (0, —1),(0,1),( —1,0),(1,0)}

C. R-601 &MjLI&LD{0,-1,1,2}

D. R-651 63&88LD {0,-1,1}

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FfZ9xImXpBuA
https://dl.doubtnut.com/l/_lWe6mhghglAY
https://dl.doubtnut.com/l/_KptCHlJ5AUaf

7. f(z) = |a

A.
» I—Zx
) flry= | 4
[ Jrehs
B.
-2x 3
@ f=) *
—2x
C.
~2x ;
G) =1 4 ;
2x ;
D.
—2x
HMH=9 2 :
2x
Answer:

— 2| + |z + 2|, z € Retevflev

HE ] ]|
i xe(-22]
xe2=)

x E(—e-a,—2J
xe(-2,2]
xe(2,)

xe (—m,—?]
Xe (-2,2]

3Re.

i xe(—e=,-2]
xe(-2,2]
3 xe(2=)

° Watch Video Solution



https://dl.doubtnut.com/l/_KptCHlJ5AUaf

80. Quiev 6T600TSH6ITG0T  S160)6015)8|5H&:6001D N&H(G Amm|bB
2 L 860011861 61601l6VA” U [(A N B) U B'] e1601L1G)|

A A

B. A

C.B

D.N

Answer:

o Watch Video Solution

81. &evollgd WHMID Ceudluilwev QessI(HLD LIMLMhi&6s 6/MHm
LOM6T0T6U (861 65T 61630160011 5605 70.28 56001185608,
egmmeurseilett 10 % wMHMIb CeugluNwev emHmeursefest 14 %
SHGW. Qeumnjlev  eIHTeULIGMEdTEN ML UMLLOM&  6JMm

LDIT65OT6U J&6TTl60T 61603016001 &H60)5


https://dl.doubtnut.com/l/_Ym4Kt2KzO6KY
https://dl.doubtnut.com/l/_C8tjqvZCOdKp

A. 1120
B. 1130
C. 1100

D. GLIME|LOMEDT §&H6U6V Q) 6V6DI6V

Answer:

o Watch Video Solution

82. n[{(AxB)Nn(AxC)] = 8LD['D@_|Lbn(B NC) =2, eléolleun(A)
6160TLIG) |

A6

B.4

C.8

D. 16

Answer:



https://dl.doubtnut.com/l/_C8tjqvZCOdKp
https://dl.doubtnut.com/l/_hqJuyDTDhuSO

| ° Watch Video Solution

8.n(A) = 2HmIb n(B U C) = 3eteslleun[(A x B) U (A x O)]

A 2
B. 32
C.6

D.5

Answer:

° Watch Video Solution

84. AwmmIbB eeb QhH SHevorhiseriley  172.Mm LI &6l
clumgleumesTemel er6vilen, A x BoMMIDB x A Sh&lW 86001 S6rTl60

2 61T6IT 61LIMTG)| 2 M)|LIL| 56607 6165076001 56018

A. 27


https://dl.doubtnut.com/l/_hqJuyDTDhuSO
https://dl.doubtnut.com/l/_6kWcp86VyuQS
https://dl.doubtnut.com/l/_5c9QXhzbLFk6

B. 172
C.34

D. CLINME |LDMEDT §B616V Q6V6m6V

Answer:

° Watch Video Solution

85. Gleummmm &evorrai&heTA  WMMIDB  6l661HA C B 6l6vl6v
(Ax B)N(Bx A) =

AANB

B.AXx A

C.Bx B

D. @6umMlev 6]8 LD Q6Vem6y

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5c9QXhzbLFk6
https://dl.doubtnut.com/l/_NWKkkxkAco7G

86. 32_MILIL|SHE06IT Gl&MEBOTL. &630188) 65T LOGM6BT 6l &ML [TLISH6rM 6T
61650165011 H6D) B

A9

B. &1

C.512

D. 1024

Answer:

o Watch Video Solution

87. &601M|&H(G CLMULL 2 MIUILI&HE06TS 6l&MesoTL. &6voild X 65T

L& T6BT 60601818 Q1 HMLITL| RetevlleuR eT65TLIG) |

A. 5M&L_(H 61&MLITL| S16V6V

B. #LD&E ] G1GMLITLIGU6Y


https://dl.doubtnut.com/l/_NWKkkxkAco7G
https://dl.doubtnut.com/l/_uewhzyxkPqT9
https://dl.doubtnut.com/l/_u1PMtfV6gYZo

C. BLLG6IGMLITL| SH6V6V

D. Q6UMMI6TT 615 6)LD S165TM)|

Answer:

° Watch Video Solution

88. X ={1,2,3,4}ommitb  R={(1,1),(1,2),(1,3),(2,2),(3,3),(2,1),(3,1),(1,4),
(4,1)}.61601l6VR 6T65TLIG |

A.5M&L (B 61HMLITY

B. FLO&& 1T G GMLITL

C. &L LULG6I5MLITL

D. Q6UMmI6TT 618 |6)LD S165TM)]

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_u1PMtfV6gYZo
https://dl.doubtnut.com/l/_KU2cHucoMl9k
https://dl.doubtnut.com/l/_tPlDNphEoHCP

. . L \est eSS LD
89 T e 160 &Y 601 ai&55

Answer:

° Watch Video Solution

90. f(z) = ||z] — z|, = € RetetTm &MijLN 65T IFFHLD

A [1,0]
B. (0, o0)
C.[0))

D. (0,1)


https://dl.doubtnut.com/l/_tPlDNphEoHCP
https://dl.doubtnut.com/l/_0zG4PET3P6SO

Answer:

° Watch Video Solution

9. f(z) = 2’eetim &SI QUBHUME  FMTUTS  SH6DLOW
Ceuesor(h6loeolley  SiG60T  FMIUS(PLD  &|60I6T01EF  FMILIS(LPLD
(e mGuwl

AR R

B.RR, (0, c0)

C.(0,0), R

D. [0, o0), [0, 00)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0zG4PET3P6SO
https://dl.doubtnut.com/l/_Sr5ABAICSIeZ

92. me_M|LIL|&H60)6IT 61&MEsuTL @ (1h SH6v0155) 68l (hh&In 2 M|LIL|S6T
Cl&MeTsIL.  @(h &HeuiHH MG euenTUMISGSLULBLL  WIMledl&

FjL &erfl 65T 6165016501 &H60 5

Dm+n

Answer:

o Watch Video Solution

93. f:10,27] — [ — 1, 1]etev1& gy, f(z) = sinz 61607

aUen WM |5H&LLI(HSIME | 6T6vilev. 918

A. 6511|561 8M601M|

B. GLOMG& Mg &6V


https://dl.doubtnut.com/l/_SW5Ni3gkQPit
https://dl.doubtnut.com/l/_xuLwRiKsLEpQ

C. @Um& gmjy

D. 6Uem WM 158 QUI6Vg|

Answer:

° Watch Video Solution

2

94. f:[ — 3, 3] = Setetim &ML f(x) = z° eT60T eUEMTWMISHSHLILIL (D

CLomEaMj8 86 6l6vilev, SeT6TLIG) |
A[—-909
B.R
c.[—3,3

D. [0, 9]

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xuLwRiKsLEpQ
https://dl.doubtnut.com/l/_qxdc9MhFprbW
https://dl.doubtnut.com/l/_GVFvV4zz6DSO

95, X ={(1,2,3,4},Y = {a, b, ¢, d}ommiid
f=A{(1,a),(4,0),(2, ¢, (3,4d), (2, d)}etevilev f er6dTLIG)|

A. 66010)| &6 SHM60TMM6BTE & TITL

B. GLOMG& Mg &6V &ML

C. 6260701561 BMEdT) | S16V6VNTG ST

D. &mjL6sT)|

Answer:

° Watch Video Solution

96. 5155



https://dl.doubtnut.com/l/_GVFvV4zz6DSO
https://dl.doubtnut.com/l/_ccSlQyKqo06p

—x 3 x=<l1
@ F - Jr o3 1sx<16
5 H x>16
B.
'S x<l
(3) Fx) = Jx 3 1sxsi6
g ; x>16
C.
2x 5 x<1
Jx 3 1=2x216
1 —
@ = o
? =16
D.
Xin; x<]
) £ ()= Jx i 1sx=16
2
xa =16
Answer:

° Watch Video Solution

97. f: R — Retettm #miju,f(z) = 1 — |z| eTeoNev fetr1 af&& 1D



https://dl.doubtnut.com/l/_ccSlQyKqo06p
https://dl.doubtnut.com/l/_x8LUCLhzgeNM

AR

B. (1, 00)

C.(—1,00)

D.(— o0,1)
Answer:

o Watch Video Solution

98. f: R — Revf(x) = sinx + cos x 6165116V f Shev1g)|

A. & (H eeMHemMLILIEDL &ML
B. 62 M6y MLILIEDL_WLILD6V6V Q6D LILI6D L U]LD6V6V
C. (H QLenLLILenL& SMijL

D. @MemmLILIen L LOMM|LD Q6D LILIEOL & FMijL

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_x8LUCLhzgeNM
https://dl.doubtnut.com/l/_bzKeJlPsqCME

(332 + cos c) (1 + x4)

(z —sinz)(2z — x3)

9./:R - R — f(z) = 6160116V, f

A. & (H e e MLILIEDL &ML
B. 62 M6y MLILIEDL_WLILO6V6V Q60 LILI6DL_U]LD6V6
C. (H QML LILenL& SMijL

D. @MemmLiLIen L LOMM|LD Q6D LILIEOL & FMijL

Answer:

o Watch Video Solution

100. f:R — Repeorgf(z) = z*ereor
6UED TN |58 LI (B &M G|.61LIM(TH &G LDMesT allenLemwl g
CoHel5(H &5

A. femmI&6lsmes | LMD CLoMEsMES6v Sy

B. fGLOMG&H M6V &ML


https://dl.doubtnut.com/l/_bzKeJlPsqCME
https://dl.doubtnut.com/l/_nZuTufJ2Oq1K
https://dl.doubtnut.com/l/_j1XIOVzf7NwD

C. fe6010)| 5618 M60TM)| SH6vTITeV GLOMESMITEHGHEV H6VEV

D. f626010)186] 86510 |LD6V6V,ELOM ESIMITE 86V S16V6V

Answer:

° Watch Video Solution

|

101.  f:R — Repeoigf(z) = (3 —2°)%etetr gLl Lmevfof(z)

<Sbh6oTg)|

D.3 — (z%)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_j1XIOVzf7NwD
https://dl.doubtnut.com/l/_FfA7K2ziKDFE
https://dl.doubtnut.com/l/_ysCEO5TNYnsq

1022 A={-2 —-1,0,1,2}et6516 OMIDf:A = Z ShevIg|
f(z) = 2* — 2z — 3etev1 HPLILIL_L M6V 5-657 L&) LLDLILOMEDTS) |

A —2

B.—1

C.0

D.1

Answer:

o Watch Video Solution

103. Fflwinest nmemms, @56 G\&ls

A. @651 15(8) @65TMME0T FMITLIS(E CHILOMM)| FMIjL| 2 6501(H
B. CLOMC&MTE &6V &MILIS&G CHILONM| FMIL 2 6801(H
C. @UmE sNILUL&E Chiwnm| &L 2 65s1(H

D. SI6m60T5 G| FMIILIGEHSHGLD CrhiTLONM)| &MLl 2-6501(H



https://dl.doubtnut.com/l/_ysCEO5TNYnsq
https://dl.doubtnut.com/l/_2lzGr9UdMeGq

Answer:

° Watch Video Solution

104. m(ANB)=3wHmbn(AUB) =10 eeslein(P(A A B)

SIT600TH

° Watch Video Solution

105. (LP(LD&HSEIT &H600TLD, ZmRnSheoig|m — n 61601 G| 12101 MG
61607 eUEMTWMISSLILIBH MG ROHeoT18)| &FLOMEoTS 6IGMLIIL| 6160t

bl M6 &

° Watch Video Solution

106. y =z + 1(ii)y = (z + 1)’6165T) QUEMETEUEDTEHED6NE ¢ = o

5(H515

| ° Watch Video Solution


https://dl.doubtnut.com/l/_2lzGr9UdMeGq
https://dl.doubtnut.com/l/_qEOD4sm6EsmE
https://dl.doubtnut.com/l/_2wY86vmr7H3B
https://dl.doubtnut.com/l/_PRi2VxZWT5Lk

107. A={z:z =4n+ 1,2 < n < 5;n € N}erevflev 60T

o | 86001 &61Tl 65T 61650160011 56018 SHT6T0TSH

° Watch Video Solution

108. F = {(1, 4)(2, 5)(3, 5) Joimitd g = {(4, 1)(5, 2)(6, 4) }erexlev gof

&M63018 fog SMevoT QUIGY|LOT?

° Watch Video Solution

109. 6265T0)|5615M60TM) | FITITL| 6UEDTUISS

o Watch Video Solution

110. A x As6v018,8)6V 92_m|LIL| &6l 2 _6iT6IT60T.

S ={(a,b) € Ax A: A > B}etetim) Sevvidglev  2.6em  Q(H


https://dl.doubtnut.com/l/_PRi2VxZWT5Lk
https://dl.doubtnut.com/l/_gKG7K0KLqTfN
https://dl.doubtnut.com/l/_VsQJ9I2HJu0o
https://dl.doubtnut.com/l/_sLFBKUrQXicA
https://dl.doubtnut.com/l/_qDNuYkWhGPoE

2 MILILSET (2, )wHmIb  (21)eteollev  Sev  2.6mem LG (Lp6iTET

2 MUILISHED6NTE SHITETOIS.

° Watch Video Solution

m. f(@) = lal, (z) = |o — wHEIbdf(z) = |z + 1leTetT)

ML &6rfl6sT uemULLD 6U6m s

° Watch Video Solution

M2. f:R(-1,1) - Reemib  gmjilemestf(z) = — n 6160T
2 —

EUEMTWMISHST6V  feledim) &ML 66510 |H6l&MesIMT  Q6V6m6uT

6T60TLIED & & FIJILIMTEH 61 LD

° Watch Video Solution

113. Amm|ibB 6160)|LD ST GH6UBI I ST

n(B — A) =2n(A — B) = 4n(ANB) womibn(AU B) =14 efeol


https://dl.doubtnut.com/l/_qDNuYkWhGPoE
https://dl.doubtnut.com/l/_2fxRuUsihJrx
https://dl.doubtnut.com/l/_gPx0I84akbJS
https://dl.doubtnut.com/l/_ILKXNZKUqCA4

SU6DLDOTHG M6V nP(A))&Meso18

o Watch Video Solution

SMILSET GILLILL MV, fLoMMID gedt afdesLD SMesors.CLosy|Ld fog

SHIT60015

o Watch Video Solution

15. GIGHMLILUR ShevTg| (P(LSHSH6M &6volld Zev  Lilesteu (HLomm)
auen WM |&HSHULI(BSIME:(xy) in RR iff x*(2) +(y"2)=25.R oMHM)|LD R!
2 auflemgluBHHULILL  CRMqs6eled &H6oorons  SHM650I.

SHEMGH WOV H6DIEUG6I 65T FMTLIGMISHEM6I (LP6D MG SHTETTS

o Watch Video Solution



https://dl.doubtnut.com/l/_ILKXNZKUqCA4
https://dl.doubtnut.com/l/_Vw8DmByqC0k0
https://dl.doubtnut.com/l/_4AhwEsM0fCLl

16. f:R — Reteotm FmijL f(z) = 2z — 3 61601 6UEMTUIN|SHSLILILG 60T f

@b QHUIEFETIL 66l HemHLSG!. g6t CHILMN Hemerd

SIT6501.

° Watch Video Solution

117. feledT) SMIL SLDSMETD) (L UMM 6UDFWMISHSLILIL (H6T6TS)]

3x-2, x33
fix)= fxt —2, -2=x=1
BN I e TS L. 6160716V,

f(4), f( —4), f(0), f( — 7) 60T LG LILISHED6IT ST6T0TS

o Watch Video Solution

18. A=1{0,1,23}e6t18 Aev SDHMEDID  EUOBUI6Y

C1BTLTLISHE6T HODSHHLD. HMEFL (B, FEST LMHMID SLLIL


https://dl.doubtnut.com/l/_PAVenkwgGe8I
https://dl.doubtnut.com/l/_0qCj66a7Q7wU
https://dl.doubtnut.com/l/_PMkMglOfNEVg

Sleveung, 6lgMLiY gM&aLl (5, F&SFN LMMID SLLIL| SH6V6VTS

AF=3) , W

° Watch Video Solution

1m9. A=1{0,1,23}e6t18 Aev EDsMeD|D  cueOBUI6Y
CBTLITLSHEMET  eDWESHeUD  SMHEHL(B, LMHMID  FLEE]

SI6V6VITLO6Y SL_LIL| 61&TLITL

° Watch Video Solution

1200 A=1{0,1,23}e6018 Aev EMEOID  cueOBUI6Y
CIBMLITLIB6M6IT HEBLDSHSHELD G (B, LDMMILD SLLIL| HEVEVTLOEY

FLOEFM(GLD 61GMLIL

° Watch Video Solution



https://dl.doubtnut.com/l/_PMkMglOfNEVg
https://dl.doubtnut.com/l/_y2UnWHR4Tn18
https://dl.doubtnut.com/l/_6sjD4413Z2DB

12 A=1{0,1,23}e6t186 Aev EDsMeD|D  cuOBUI6Y
6B TLISHE6T HDLSHSHELD FOEET MM SHLLIL| SI6V6UTLO6Y

Bm&L (5 61HmLL

o Watch Video Solution

122. 10&561T615 M6 & 50002_61T6M 62 (ThH HSHJGHS6V HLGGLILIL L 6(H
&6001&61&(H LY, A 6lMYl  6lgfihgeurseT ,45%B 6oyl
15 Hh&6uTs6T 25 % , C 6l 6lgHmhaeureseT 10 %, A wmHmDB
CloMPleT  CgfhseunseT 5%  Bwmmib  Celompl&ei
Clafmhseunser 4% Awmmib COMLSET 65ifhgeuieser 4%
SHGD. Qv cpetim| 6ILMLPIG&ET 6l&HHSHeUT&HET 3 % eT6vilev

6ILMPl AL (KD 618 fih&6uT&6TT 6185 em6oT GLIT?

o Watch Video Solution

123. f,9:R — Repdlw Q@b &myusef(z) = 2z — |z| wMHMILD

g(x) =2z + |z| eteoT eueTWNMIHSHILI(BSHIMSG| 6T6vflev  fognd


https://dl.doubtnut.com/l/_QjphEz31oTcV
https://dl.doubtnut.com/l/_1NajUQFyg0Gr
https://dl.doubtnut.com/l/_ObB9I3RWQAN8

SHIT600T5

° Watch Video Solution

124. A = {2, 3,5}ommIb QGMLIUR = {(2,5)} 61651&8.61GMLIJLIR &3
FLOM6sTd, C1GMLIULIMSSR 2 L 651 G558 Geuestriql (§eDMHGHLILF

2 M|LILI&H6D6IT 61(LD G |5

° Watch Video Solution



https://dl.doubtnut.com/l/_ObB9I3RWQAN8
https://dl.doubtnut.com/l/_bEjqIIlifQmd

